S3 Table. Growth delay, specific growth delay and standard error for each PDX model
and passage. A linear regression model was fitted to the specific growth delays for all
passages within one PDX model to determine whether there is an effect of passage
number on SGD. The mathematical model is given by SGD = 4, + 4,,,..Passage. The

assage
p-values in the right-hand column reflect the test for effect of increasing passage on
SGD within each model. (i.e. “passage effect”).

PDX Model Passage GD SGD SE _SGD p-value for “passage effect”
8 7.47 0.47 0.19

10 18.70  1.14 0.43

3a 26.21 1.21 0.31

3b 33.52  2.05 0.72 0.402

4 34.67 1.10 0.92

4 23.66  1.08 0.32

5 25.84 091 0.30

6 20.76 ~ 0.75 0.18

7 67.84  2.37 1.20

3 16.48  0.56 0.28 NA (one passage only)
3

4

4

5

3

4

0.261

0.284

1757  0.49 0.29
9.69 0.29 0.20
11.15  0.56 0.13
13.67 0.73 0.13
35.54 198 0.77
9.20 0.63 0.17

0.456

0.373

0.204
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